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B4.  Find the absolute maximum value of 
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(A)  5;  (B)  6;  (C)  7;  (D)  0;  (E) 1.

D5.  Evaluate the integral 
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   (A)   -18;   (B)   45;   (C)   54;   (D)   36;    (E)   -12,

A6.  Evaluate the indefinite integral 
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C7.  Find the value of 
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(A)  3;  (B)  1;  (C)  0;  (D)  2;  (E)  does not exist.
A8.  Find the slope of the tangent line to the curve 
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(A)  0;  (B)  1;  (C)  2;  (D)  3;  (E)  does not exist.
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(A)  0;  (B)  1;  (C)  2; (D) 
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B11.  Find the absolute minimum value of 
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    (A)  1;  (B)  2;  (C)  3;  (D)  5;   (E)  does not exist.

D12.  Which one of the following functions is not continuous on
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(A)  0;  (B)  1;  (C)  2 ;  (D)   3;  (E)  does not exist.
E14.  Find the tangent line to 
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B16.  Let 
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(A)  e;  (B)  1 ;  (C)  0 ;  (D)   -1;  (E)  does not exist.

D18.  Find the inflection point of
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1.  Determine where 
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4.  Find the area of the region enclosed by the line 
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